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UMO01CBBSO07 - Business Mathematics

Note: Figures to the right indicate marks.
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Express |x—4|<7in the form of an interval.

Total Marks: 60

[04]

State De Morgan's laws for two sets A and B and verify it for the [06]

following sets.

U={,2,3,4,5,6,7,8,9}, A={,357} and B={2,4,6,8}

If A={1,3,4,6} and B={2,3,6,7} then find

(i) AxB (i) AUB (iii) ANB (iv)A-B
OR

Write the properties of absolute value.

If A={0,1,2,3,4}, B={2}and C={3} then show that
A N (BUC) = (AnB) U (ANC).

Express -7 < x < 8 in a modulus form.

Solve the following equation.

x-1=0.1

State the properties of 3 x 3 determinants.
Solve the following equations using Cramer's vale.

4 3 5 2
Xy Xy
0 4 3
If A=| 1 —3 —3]|then find A%
1 4 4

OR

Explain the following terms with examples.
(i) Skew-symmetric matrix

(i) 1dentity matrix

Show that

ax+a bx a-bx

bx+b cy b-cy|=0

CX+C az c-az
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Obtain the inverse of following matrix.
111

A=[2 1 3
3 21

Obtain the equation of a line having slope m and passing through
(X1, Y1)
Find the slope of line joining the points (1, 0) and (2, -1). Does the point
(2, 2) lie on this line?
A line passes through the point of intersection of the lines
5 + 2y - 11 = 0 and 3x - y + 11 = 0 and it is perpendicular to
4x - 3y + 2 = 0. Find its equation.

OR

Find the equation of a line perpendicular to the line joining (3, 2) and
(4, 0) and passing through (5, 7).

Obtain the equation of the straight line passing through the point of
intersection of the linesy = 2x + 1 and y = x + 2 and parallel to the line
y=4x+7.

If the lines ax+by+1 = 0 and x+y+1 = 0 are perpendicular and their
point of intersection is (1, -2) then find the values of "a" and "b".

State the rules of limits.
lim /x+2-+/3
x—>1 (x-1)
lim £(3+h)-f(3)
h—>0 h
OR

Evaluate

If f(x)=x*+5then find

Evaluate Iim{ ! _ 2 }
x=2[(x-2) (x*-2x)
lim g*—p*
x>0 X
x*—-16
x—=2 (x-2)

Evaluate

Evaluate
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